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SIDDARTHA INSTITUTE OF SCIENCE AND TECHNOLOGY: PUTTUR
(AUTONOMOUS)
B. Tech Il Year Il Semester Regular Examinations July 2021

DISCRETE MATHEMATICS
(CSE)

Answer one question from each unit (5 x 12 = 60 Marks)

Explain the connectives and their truth tables
Prove that (Ix)P(x) A O(x)) = (3x)P(x) A (3x)0(x)
OR
Show that (P — Q) — Q)= Pv Q without constructing truth table.
Explain the Universal Quantifier and Existential quantifier with examples

Define an equivalence relation. If R is a relation on the set of integers Z
defined by R={(x,y):xe Z.yeZ.(x—y)is divisibleby 6}, then prove that R is an
equivalence relation.

If fiR->R such that f(x.y)=2x+land g:R—> R such that g(x)

X

then verify that (gof)™* = f~log™*.
OR

Define function and write the types of functions
Show that the set of all positive rational numbers forms an abelian group

under the composition defined byaxb = E, VabeQ?

In how many ways can the letters of the word COMPUTER be arranged? How
many of them begin with C and end with R? How many of them do not begin
with C but end with R?

What is the co-efficient of (i) x> y 7 in (x + »)° (i) ¥*y* in (x=2y)°
OR

Out of 9 girls and 15 boys, how many different committees can be formed
each consisting of 6 boys and 4 girls?
Applying pigeon hole principle show that if any 14 integers are selected from
the set S = {1, 2, 3... 25} there are at least two whose sum is 26. Also write a
statement that generalizes this result

Solve a, ~7a, , +10a, , =4"
Solve the following y, ., ~y,., =2y, =n’
OR
Solvea, = a,_, +2a, ,,n >2 with initial conditions a, =0 ,a, =1

Solve the recurrence relation using generating functions a, —9a, , +20a, , =0

Define isomorphism. Explain Isomorphism of graphs with a suitable example

forn>2anda, =-3,a, =-10
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In any graph, show that the number of vertices of odd degree is even.
OR

L6

Give an example of a graph which is Hamiltonian but not Eulerian and vice L5

versa.

Define Spanning tree and explain the algorithm for Depth First Search (DFS)
traversal of a graph with suitable example.
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B.Tech II Year I Semester Regular Examinations July/ Aug 2021
ELECTRONIC CIRCUIT ANALYSIS
(ECE)

Answer one question from each unit (5 x 12 = 60 Marks)

Derive the expression for the hybrid i parameters gm, gole, gblc, roo! and
Ece.

Explain various coupling methods used for multistage amplifiers with
their frequency response.

OR

Derive the expressions for voltage gain, current gain, input and output
resistances of a Cascade amplifier with suitable diagram.

If the overall lower and higher cutoff frequencies of a two identical
amplifier cascade are 600 Hz and 18 kHz respectively, compute the
values of individual cutoff frequencies of both the amplifier stages.

Explain the concept of feedback in amplifier with suitable diagram.
Compute Rm and Ru¢ using feedback principle for the circuit shown in

tigure. Assume and hs = 50 and hie = 1.1 KQ

j?-““"m:
3k ;:E Rey Rez Z 5000 T o
P = 11K
Nat = S0
1.2K Vg
B v, %
iz Rez= \I
I 5002 l_i’_
2 e
OR

Compare various types of feedback amplifiers.

A voltage series negative feedback amplifier has a voltage gain without
feedback of A = 500, input resistance R; = 3kQ, output resistance Ry =
20kQ and feedback ratio 3 = 0.01. Calculate the voltage gain Ay, input
resistance Rir, and output resistance Rof of the amplifier.

Design a RC phase shift oscillator to generate 5 KHz sine wave with 20V
peak to peak amplitude and draw the designed circuit. Assume hy = 150.
Derive the condition for sustained oscillations for Hartley oscillator with
suitable equations.

OR

Design a Colpitts oscillator with Ci =100 pF, and Cz = 7500 pF. Determine
the range of inductance values, if the frequency of oscillation is to vary
between 950 KHz to 2050 KHz.

Explain in detail the concept of stability in Oscillators.

Max. Marks: 60
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10

b)

Explain the operation of a single tuned capacitive coupled amplifier with 1[4 6M

necessary circuit diagrams and derive the expression for its centre
frequency.

A series fed Class A amplifier shown in the Fig, operates from dc source
and applied sinusoidal input signal generates peak base current of 9ImA.
Determine (i) Quiescent current lcg, (if) Quiescent voltage Vceq, (iii) DC
input power Ppc, (iv) AC output power Pac and (v) Efficiency.

o “Vin= 18V

féﬂ.”: 180
Ra 12Kk lcs

—aV,
Q. p=40

fﬁ%

—

OR
Explain briefly Double Tuned Amplifier with a suitable diagram

A Class B push pull amplifier drives a load of 16Q, connected to the
secondary of ideal transformer. The V. is 25V, if number of turns on
primary is 200 and secondary is 50. Determine maximum power output,
DC power input and efficiency.
Derive the expression for time period, T in Astable multivibrator
Calculate the component values of a Monostable multivibrator
developing an output pulse of 140us duration. Assume hpgmin =20,
Iesay =6 mA, Vcc=6 'V, Vgp=-1.5V.

OR

Explain briefly the operation of Bistable multivibrator with neat circuit
diagram.

Design a collector coupled Bistable multivibrator to operate from

Ve=+ 5V, Vp=-5V supply with Isay =2 mA and hg= 70.
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NUMERICAL METHODS, PROBABILITY & STATISTICS
(CE & ME)

Answer one question from each unit (5 x 12 = 60 Marks)

Max. Marks: 60

a) Estimate a real root of the equation xe® —cosx =0 using Newton's L2 6M

b)

b)

iterative method

Apply Newton’s forward interpolation formula evaluate the value of f(x) L3 6M

at
x = 1.4 from the following data

x |11 13 (15 |17 |19
f(x) (021 1069 |1.25 [1.89 |2.61

OR

Predict a real root of the equation xe* = 2 by using the Regula- falsi
method.
Use Newton’s backward interpolation formula, find f(32) from the data
£(25) = 0.2707, £(30) = 0.3027, f(35) = 0.3386, £(40) = 0.3794.
Solve y" = x + y with y(0) = 1 for y(0.1) and y(0.2) by applying Taylor’s
series method

Lvaluate y(0.1) by solving & - 1+xy, y(0) =0 with Runge-Kutta

dx
method of 4t order
OR
Solve y’ = y* + x with y(0) = 1 to find y(0.1) and y(0.2) by using Euler’s

method
1

Evaluate J'
0

dx by Simpson’s (é) th rule by considering 6 sub intervals

Calculate the median of the following data

1+ x

Class 40-50 | 50-60 | 60-70 | 70-80 | 80-90
Intervals

Frequency 5 12 23 8 2

The probability of the students 4, B, C & D to solve the problem are % -E%
& i respectively. If all of them try to solve the problem, what is the
probability that the problem is solved.

OR

a) Calculate the mode of the following data

b)

X 0-5 5-10 | 10-15 |15-20 |20-25 |25-30 |30-35 |35-40
f 5 z 10 18 20 12 8 2

In a certain college 25% of boys and 10% of girls arc studying
mathematics. Lhe girls constitute 60% ot the students in the college. What
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is the probability that mathematics is being studied? If a student is
selected at random and is found to be studying mathematics, find the

probability that the student is a boy?
iéNIT—IV

Determine (i). k, (ii). mean and (iii). variance of discrete random variable X
with the following probability function.
X 0i 1123|415 6 7
P(X) | 0| k | 2k | 2k | 3k | k? | 2k* | 7k* + k
Find P(1 <x<3) & P(x>0.5) from the probability density function

y _(2xe™%*, x>0
gwenasf(x)—[o, >0

OR
Determine (i). k, (ii). mean and (iii). variance of the continuous probability

i _[kx®e™,  x20
function f(x) = {g, elsewhere

Find the mean and variance of the uniform probability distribution given
by p(X) = = for X =1,2,— — —,n

Derive the mean and variance of binomial distribution.

Calculate the coefficient of correlation to the data given below
x |10 |15 |12 (17 |13 |16 |24 |14 |22 |20
y 130 |42 |45 |46 |33 34 140 |35 |39 |38

OR

In a sample of 1000 students, the mean and S.D of a test marks is 14 and
2.5 respectively. Assuming the distribution to be normal, how many
students will be there with marks (a). Between 12 & 15, (b). Above 18, (c).
Below 18

Construct two regression lines equations to the data given below
% 10 25 34 42 37 35 36 45
y 56 64 63 58 43 73 82 77

L4

L1

L1

L6

L6

6M

6M

6M

6M

6M
6M

6M

6M



10

Q.P. Code: 19EC0410

b)

SIDDARTHA INSTITUTE OF SCIENCE AND TECHNOLOGY: PUTTUR
(AUTONOMOUS)
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ELECTROMAGNETIC THEORY AND TRANSMISSION LINES
(ECE)

Time: 3 Hours Max. Marks: 60

Answer one question from each unit (5 x 12 = 60 Marks)

UNIT-I
Point Charges Q;=4pc .Q>=-5uc and ;=2 pc are located at (0.0.1). (-6.8,0) and (0.4,-3)
respectively find D at the origin.
Classify Maxwell equations for electrostatic fields in both differential and integral form.

OR
Define the Electric Flux Density. Determine the Electric flux density at a point P due to
infinite line of uniform Charge density p;, C/m.
A charge of 5x10-8 C is distributed uniformly on the surface ot a sphere of radius 1 cm.
Calculate the electric flux density.

NIT-II
Explain Biot-Savart’s Law.
Determine the Magnetic Field Intensity due to a infinite sheet current.

OR

Determine the Magnetic Flux Density due to Infinite Sheet of Current.
Explain about magnetic scalar and vector potential for Magneto-statics.
Explain Faraday’s laws in Electromagnetic induction.

Determine the Transformer EMF for the time varying fields.
OR

Explain the motional EMF and derive the expression for the maxwell equation.
Discuss Maxwell’s equation in both differential and integral in final form

Determine the expression for intrinsic impendence and propagation constant in a good

conductor
Evaluate the wave characteristics of a uniform plane wave in free space.
OR

Evaluate the wave equation in lossy dielectric medium for sinusoidal time variations.
In lossless medium n = 40r, 1, = 1, H=2 cos (ot - z) @, +5sin (ot - z) &,.Find £,, o, E

for the medium.

Discuss about Transmission line Parameters.
Evaluate the equation for Characteristic Impedance of a Transmission line.
OR
Relate SWR and reflection coefficient.

Explain the applications of transmission lines.
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OPERATING SYSTEMS
(CSE)

Answer one question from each unit (5 x 12 = 60 Marks)

UNIT-I

Discuss Operating System Structures.
Explain System Programs.
OR

List the different functions of an operating system and discuss the
various services provided by an operating system.

Define Process? Describe process State diagram.
Explain about process schedulers.

OR

Examine in detail about Inter Process Communication.

What is Semaphore? Describe producer consumer problem using
semaphore

OR
List various methods for handling deadlock.
Write about deadlock and starvation.

Discuss about any two page replacement algorithms with examples
OR

What is virtual memory? Discuss the benefits of virtual memory
techniques.
Write a short note on Disk management.

[llustrate the concept of file with Examples.
Explain about access method with Examples.

OR
[lustrate protection mechanisms.

Write a short note on Threats.
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JAVA PROGRAMMING
(Common to Civil & ECE)
Time: 3 Hours Max. Marks: 60

Answer one question from each unit (5 x 12 = 60 Marks)

1 What is an Operator? Explain type of operators in Java with example 12 12M
programs.
OR
2 a) Write a Java program to use Bit-wise operators. L3 oM
b) What is Byte Code? Interpret the different states of Java Program 15 6M
execution?

3 Recall Inheritance? Illustrate the types of inheritances. L2 6eM
OR
4 a) Discussin detail about Abstract Classes in Java L6 6M
b) What is an interface? List the rules to create an interface in java with L1 6M
example
5 Write a java program to create own exception for Negative Value L6 6M
Exception if the user enter negative value.
OR
6 Inspect about multiple clauses with an example of arithmetic exception. L4 12M
7 a) Tell whatis synchronization? Give its types and explain. L1 &M
b) Write a java program to implement inter thread communication. L6 oM
OR
8 a) Write the difference between String and StringBuffer classes. L4 6M
b) Create ajava program to sort the given names into ascending order. L6 oM
9 a) Difference between AWT and Swings? 4 6M
b) Create a java swing program implement Border Layout. L6 oM
OR

10 Write a java swing program to find the factorial of the given number L3 12M
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FUNDAMENTALS OF URBAN PLANNING
(EEE, MECH, ECE, CSE)

Answer one question from each unit (5 x 12 = 60 Marks)

Explain in detail on how town are originated
Elucidate the necessity for town planning in detail.

OR
Draw a neat sketch of Nandyavarta type of town planning by
mentioning the location of various places on it
Give a brief note on a) Basic villaie bi Rural town and c) Service town
Describe Territorial survey and Vital Survey
Define and explain zoning,.

OR
Write a brief note on Urban Planning and International Planning?

Explain about functional survey?

NIT-1I
What are the various housing problems in India? Explain them in
detail.

Explain in detail about various effects of slum formation.
OR
Write a short note on Slum clearance and re-housing.

lllustrate various process involved in prevention of slum formation.
Discuss the factors to be examined at the time of site selection for
public buildings.
Mention the categories in which the public buildings are generally
groups.

OR
Explain various responsibility of a building owner
What are the applicability of Bye-law to gasoline cum service station

What are the various classification of urban roads.
What are the chief uses of the traffic surveys?
OR

10 a) List the causes for road accidents.

b)

State the measures to be taken for the safety of pedestrians on roads.
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ELEMENTS OF EMBEDDED SYSTEMS
(CSE)

Answer one question from each unit (5 x 12 = 60 Marks)

Explain in detail about characteristics and applications of embedded systems.
List out and explain different tools for embedded system design?

OR
Contrast of embedded system architecture.
Explain the major application areas of embedded systems,

UNIT-1f]

Compare difference between general purpose and domain specific
processors?
Define digital signal processing (DSP)? Explain the role of DSP in
embedded system design?

OR
Define sensor? Explain its role in embedded system design?
Explain in brief about the architecture of microprocessor based system.

[ONTr-m

Explain about I12C communication interface. What are the advantage and
disadvantages of it?
Define communication protocol? What are the types of it?

OR
Discuss in detail about RS232 communication interface.
Summarize How do you communicate over RS4857 Explain in detail.

Explain in bricf about what is Arduino platform?
What are the advantages of Arduino in comparison with the existing
microcontrollers?
OR
Draw and explain the internal architecture of ATMega328.
List out key features of Arduino boards? Explain in detail.
IQEIT-V
How the word IoT can be defined? What is the importance of it?
Discuss the characteristics and applications of [oT.
OR
Outline the various challenges in IoT?
Explain about the top 3 application areas of loT.
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SWITCHING THEORY & LOGIC DESIGN

(EEE)
Time: 3 Hours Max. Marks: 60
Answer one question from each unit (5 x 12 = 60 Marks)
UNIT-I
1 Explain about Logic gates. with symbols and truth tables. L1
OR
2 Convert the following to Decimal and then to Qctal L2

(a) 123416 (b) 12EFs () 101100115 (d) 100011112 (e) 35210

UNIT-II

3 Simplify the following Boolean expressions using K-map and Implement L3
the same using Logic gates.
F(W, XY, Z)= XZ+W' XY +WXY+W'YZ+WY'Z
OR
4 a) Simplify the following expression using the K-map for the 3-variable. L3
Y = AB'C+A'BC+A'B'C+A'B'C'+AB'
b)  Simplify the following Boolean expressions using K-map. L3
F(A, B, C, D)= 2m(1,3,7,11,15)+2d(0,2,5)
UNIT-I11

5 What is parallel adder? Design and explain 4 bit parallel adder by using L3
full adder.

OR .
6 What is Encoder? Design the circuit for Octal to Binary encoder with truth L1

table.

Draw the logic diagram for D Flip Flop by using SR Flip Flop Explain L1
the operation with truth table.
) Write the differences between combinational and sequential circuits. L2

OR
8 Design MOD-10 Asynchronous counter by using ‘I'-Ftip flop. 1.3

UNIT-V
9 Given the 8-bit data word 01011011,generate the 12-bit composite word L1
for the hamming code that corrects and detects single errors.

OR

10 a) What is FSM? Give the applications of FSM. L3
b) Explain about Memory decoding. L3
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Python Programming
(MECH)

(Answer all five units, 5 x 10 =50 Marks)
UNIT - I
Describe the list and its methods with example
OR
List features and applications of Python
What is Indentation? Explain with example
UNIT -~ 11
Classify various types of operators in Python and write any 4 types of
operators
OR
Discuss the Membership and Identity operators with example

Write a Python program to find maximum among three numbers

UNIT - III
Summarize the ways of passing function arguments with example

OR
Compare method overloading and overriding
Narrate scope of a variable in a function
UNIT - IV
What are packages? Give an example of package creation in Python.
What is an Raising Exception with an example?
OR
Describe about Handling Exceptions in detail with examples.
UNIT -V
Explain about Data Compression
Write about Dates and Times.
OR
Explain about ['unctional Programming

12

L2
L1

L4

2
L3

L2
L3

L3
il

L3
1.3

L4

Max.Marks: 60

12M

6M
6M

12M

6M
6M

12M

6M
6M

12M

12M

6M
6M

12M




W9
[AC]

W9
W9

WG
W9

ne

N9

W9

N9

NG

el
1

<l
<l

[

£l

ol

unug() =Y se ssouydnod jo 3ydey o8eiaae

ae], s/ st sajepd usamiaq Aofaa Ayl uede unupz paureurewn apim
we' L saerd jorered Areuonels omy usamiag Juimops ;W /SN Zoo A1S0sta
jo 1o ue oy Hipopa afesaae (u mopy Buoe Juarpesd assoad (1 ojemoped
“MO[J JUA[NGING Ut LONNLNSIP AJD0[RA 10] uvissardxa ue aALa(

HO
‘sadid yjoows jo adueysisal 1oy uorssardxa aiy dALD(Q

‘staquinu Jo sad £} omy Aue uredxy raquunu ssajuoisuaunp st ey

I
“adid ay jo wipe jo pduap e

10§ U0 0] INP S0 Peay S PUL 'S /1] 00k JO d1RI 9y} I8 UIugQg Sjuerp
jo adid e yBnoayy Bumory st axoIs FQ ANSOSIA dHRWBUDY JO [10 PRI
poyiaw ssosd Apaep noqe uredxs Apoug

o
Juawndie[ua uappns oy anp peay

JO $507 (1 SURUINDQ WD /N g2 11 81 odid 1appews aygy ut Ayisusqur aunssard
oy} wiugE 03 padaeus Ausppns st wwn)z st yagm adid oy jo sopaterp
oYL s/ew wigg 0 jo adid pjuozioy e ydnonyy idem moy Jo ajed oy

838501 Jounut Sundar3ap “Apandodsar gr00°0 2 Z600'0 S00°0 ST UOTIILY
JO JUADYIA0D JI INEM JO MO[J JO DIBI Y} sunuIala(] “Apanoadsar wwgpy
pue WOz ‘wwpg @ Jo pue wpig pue wpsl ‘woge syidus| oy jo sadid ayy
£Q Pa3oauLIod a1e YIM “SYUE) 0M] UT S[IAD] DDBJINS INEM UT DIUIJJIP AU

[1em jo doy ayy saeapd snl 1ayem o jal oy jeu 0s

[RJUOZLIOY oY) 03 afZzzou a1 jo uondalord jo ofdue ay) purg rem [eonioA ay)
W0 W(Z JO 2DURISIP B Je PAENIIS ST a[Z20U U 'S /W (O Jo AJDopa e qim
9jzzou e woy 1no Jurdired st asjem Jo jal v JyS1ay ur wg jo [[em [ednIaa v
“MOJ JO UOTIAITP A}

puEe Pealy Jo SSo Y3 dURUINAC] "I9S /1] )7 $1 2S1eydsip oy pue Ajoandadsal
WD /N 988G pue ;Wd /N 186 018 g 3 v Je aunssaxd ay j] ‘jeas) 1oylng e e
wi ST PRI g uonisod e je ssjawerp wugg 03 v uonisod e je miawerp wgz
wody wajawerp up sedueyd ‘zg jo Aniaerd oywads jo o Suidues aup adid v

HO
“nom renduepdar jo myem jo pdop oy puiyg
WIUE(9E S Iam denduern 1aa0 11em 1 yidap ayy § *£() Pue o) aIe SIam
Jenguear pue tenduey oy jo sJUBDYIB0d ad1eydsp Y] W ypm jo
J1am IenBueidal Ao usyy pue 151y am pajdue jy8u ydnony smopy myep
“1am Je[nguern ayl Ao
yidop ay pury “Aandadsar g7 pue zog se nam renueny pue wenfuedar

6010261 2p0D 'd'D

(q
(e

(e

(e

(@

{e

(q

ot

W9

W9

NG

N9

W9

WG

NS

W9

<l

€]

o
—

1

<l

1

£l
1

00 [SNIBIN "Xe

) 10] Py %ru\_m 1 ltom pajdue-y3u remBueny e ydnony sassed spiesmiojye
pue wwigs L Jo yidap 18 pue apim wip sam fenueidos e 1940 SMOY 91

A IIRET

18 A3100[0A a3 os[e aurualac 'S /w ¢ st uondas e adid ayy ySnoayp Buimoy

1orem jo fypoppa ayy 1 adid ayy yBnoayy alreyosip oy purg £pandadsas

wo G pue wd O ae g pue [ suondas ay} je adid e jo swowerp oy

"MOJ JO

21ey JO SWIR) Ul MOo[J [RUOISUAWIpP-au() 10j uonenba Aynunuod ayy urerdxyg
UO

"1=12u je (¢ ‘1 ‘7) 1e 2puzed ping e jo Aypojaa

Y purd M1 ¢ + [ex01 - kxp =A uaard st mopy pimyy e ur 101aa AjpopPA |

‘§oea jo

A[dwiexs auo SAIN) *MO[J [PLORIOAIT PUB MO[] [PUONRIO UdamIag ysindunsi(]

[1-LINN
'90BJINS 91)

N} MOJAQ W g7 pue [ejuoziroy st odpo readde s)1 uaym adeqins suepd ai
uo amssald Jo anuad jo uonisod pue amssard [ejo) Y] AUNULIAIA(T “I21EM UT
aue(d [eonaaa ursor 1 daap wig pue opim wg s1 a0epms aued semnduepdsr v
"DRLINS 1D)EM
YIm sapnouio) pue [ejuozuoy st o3pa readde sjr uaym sdepns auerd oy
uo aunssald Jo auad jo uonisod pue amssasd [ejor oy aunwILIA( JAjEM UT
auepd [eotina ursat) 1t daap wy pue apim wiz s1 aepns auerd tenSueor v
O
“T10 Jo AJ1S0081A
sweudp pue ¢pp o Yy jo Anaeid dyads ayy 1 po oY) Jo ANSOISIA
anaup| auRLIa( paads ayy utejutew 01 N 1°gg 22105 e saxmbar 20s Jwg e
sanow yorym srerd saddn ay ] ez s1wiy 1o Jo ssauxdw o g, o gy st agerd
ay} Jo apis yoeyg o yim paqy sarerd [agpered arenbs omy m/q aoeds ayy,
‘anssard jo zapuad pue ainssaid [e30) Jnoqe suyagy

(S3IBN 09 = Z1 X §) 11un yoes woly uoysanb auo lamsuy

(Bunaawiduy 1ay)
SOINVHOIW dINTd
LZ0z AInf suoneunwexy rem3ay 93sawag [ 1Lak [ Yo21'd
(SNOWONOLOY)
ANLLN *ADOTONHIIL ANY HDNHIDS 40 ALNLIISNI V HLAVAAIS

(e

(q

(e

(@

(e

SINOH ¢ Wiy,

60103D61 2P0) "d'0

El




W9

W9

)

N9

NG

N9

N9

W9

|

'l

11

£l

<l

“Aousnyia apAd
A} AUIULIAAP IAjeM Paa) oy 1edy 03 Jeqg jo amnssaxd wnumdo ayy je go

Paq st wea)s ydnoug pajernies AJenur st wess ayy Ieq g0 18 SI1Sneyxo (@
) pue 1eq ()¢ S19JUI dUIqN] je arnssasd wea)s ay) ‘914 aaneauadan e ug
“appAd Supyues
jo Aduanyja [eapr ay) aseasdul o] apew sjuawasoidwy ayy uonuaw (e oL
Ho
2 Kouanyo apAd auryuey uo suonipuod Sunesado Jo aga oyl og Emageypm (q
‘uondumsuos weas synads pue onges yiom
‘Aduaidpyga apAd Ay ajeofe)) “pajerjes L1p Surag weals Jo uoiIpuod [enul
oyl “Ieq 90y pue Jeq gz sednssaad usamiag sy1om oA ouryuey opdwis v (B g
A-LINN
‘Adonua peuy
pue Adeyjus euy ‘swmnoa [euly M) puy Jeq | jo amnssaxd [euy o3 jueisuod
=ziAd 1o me ayy 0} A]durpionoe spuedxa A1p g0 pue feq of e weas v (q
aurp A1aadoad juesuod Jueaojad
yim joid g-H adueysqns amd e 1oy wesferp wnuqibo oseyd oy moyg (8 g
bi (6]
‘ssanoad uonpafor yeay ayy Suumnp sadueyd
Adonus oy (m pappe jeay o (1 ~Luapyld pewuay) sy (1 sunuwiaag  {q
Sdom Jo [ el oonpodd D goF pue D g00F usamiag Sunjiom aurdua joune y
apAd (©
OO Ue JO duop om ‘Ausniy)s piepuels e oj uossardxe sy dopaag &
SOE0AN6L 2P0D “d'D

WZL

N9
N9

N9

W9

W9

N9

N9
Y

W9
W9

|

<l

£l

<l
Tl

11

09

er

34/ 500 1="D e ssosoad
awnfoa juejsued Suump aagsuen jeay () pue ‘sseooxd dneqerpe Sulnp
AZ1aua [euzarur uy 9BuryD) (1) “Xapur dneqeipe jo anfea ay) (1) Swmopos
ayl o puy pue weiderp A-J 9yl Mei( ‘paueiqo /N NAses Jo aanssaad
reutduo ayy mun A[euayost passasdiod st sed ayy Aqpeurd swr/NY 62
ag 01 punoyj si a1nssaid §)1 UAYM GEE SIYIEAL JT [HUN SWNJOA JUBISUOD I8
pajeal] uay) st sed ay [ ;ur/NY 9z1 Jo amssaid e o) Ajjeoneqerpe papuedxa
s1 Jpceg Jo aameradwoy pue au/NY cecl amssaxd 8y ¢ ssew jo sed vy

Ho
ssa004d dpRQRIPE A[qISIAASL B UL 3UOP YIom 10§ uorienba ay) aaua(

-aanssaxd jenaed jo mep uoyje urepdxg pue aeig

[11-LIND|
"agiaAnun ay) Jo asearnur Adonua ay
aunuIaa(] asaydsouwne ay) yim wnugimba [ewiay) ojul SaWod pue spaw
A1 AL "DL0T 1 51 Pugm azaydsoune ay o1 pasodxa s1 H,c- 32 a1 jo 9y au
"aurdua jealy ay 0y JoJsued) Jeay ayj
0] 1a1em Jumenoan syl 0} Jjsurn 1eay Jo onel ayy aeneaq ‘g¢ st dund
183y Jo JOO pue g0¢ st Auayjo aurue jeay ay] ‘Juipiing e jo siojeper
a3 yBnonp Sunemoin mjem ay jeay 03 pasn are duund jeay pue sui8uo
183y Ay} w0y Jajsued) jeay ay] aurdua jeay e Aq uaaup st duind jeay v
HO
ways As uado ue 10§
(33.15) wonenby AQ1oug Mol Apeals aALId( (559001 ] MO[] APealS s1 T
"[AAS] SRS S e AIP SAUT] ABIBYDSIP pue J9JU] TR} DWNSSY
aapwrerp adid japno o 1aqur yo oney (i)
aossardwon ayy aauip 03 parmbar tamod 10101 (1)
purg “unu /[y goz St s8uipunoiins
oyl o3 ssop jeay pue /[N og1 st Jossardwon ayy yBnonp Sussed
a1e jo Adpeypuo ur aseanut ay 1 3 /W £10) = ta ‘eq g = 2d ‘s /wi g = D pue
3 /wgp = laaeq | = id S/ wzL = 1D a1 1B JO SUORIPUOD JATING pue Ja[ur
oy ttossardwe are eSnjiuad e £q pasaanep st anunu 1ad e jo 8y g1
[E
¥ pue ‘g, ‘o ur arnjeraduua) ur oSt sy
ssaxdxg *D,01 Aq sastd waysAs e jo arnyesadwa) ayy ‘ssaoosd Suneay e Juung

‘winuqipinby pewwony jo 3dasuod pue sanjesadwa [, ‘yea auna
bi(6]

*Apariq sad &y sy surepdxy jwinugba onueudpountayy Aq Juesw st ey
“Auadoad e jou pue uonoung iyed B S1YIOM JRYL MOYS

(s3IeI 09 = ZL X §) 1TUN YIea woy :c:@.wzr AUD IDMSUY
ISYIRA XBA
(HDIW)
SOIANVNAQOWHAHL ONIYFINIONA
120z An[ suoneunuexy semday 1SS [[ 8K [ Y221°d
(SNOWONOLNY)
ANLLA AADOTONHIHAL ANV 3ONAIDS 40 ALNLILSNI VH.LEVAAIS

SOE0AINGL 2PoD "d'D

(q

(e

(q

(e

(q

q

(e

(q
(e

SINOY ¢ W],




Q.P. Code: 19EC0446

SIDDARTHA INSTITUTE OF SCIENCE AND TECHNOLOGY: PUTTUR
(AUTONOMOUS)
B.Tech II Year Il Semester Regular Examinations July 2021
ANALOG ELECTRONIC CIRCUITS
(EEE)
Time: 3 Hours Max. Marks: 60
Answer one question from each unit (5 x 12 = 60 Marks)
1 a) Listthe types of Feedback amplifier topologies with necessary diagrams. L2
b) Prove that bandwidth of an amplifier can be extended by using negative L3
feedback amplifier.
OR
2 a) Derive the expressions of Gain, input and output resistances for a voltage L3
Series FBA.
b) Determine the voltage gain ,input and output impedance with feedback L3
for voltage series having A=-100,Ri=10kQ,Ro=10kQ for feedback of p=-0.1

3 @) [Illustrate the condition for oscillations with suitable diagram . L3
b) Explain the working principle of Wein-bridge oscillator using BJT and
derivethe expression for frequency of oscillations. 1.2
OR
4 a) Determine the condition for sustained oscillations for an RC phase shift L3

Oscillator with necessary circuit diagrams.
b) Derive the expression for frequency of oscillations in Hartley oscillator L3

with suitable diagram.
NIT-III

5 a) What is level translator? Explain the necessity of level translator stage in 1.2
cascading differential amplifiers.

b) Discuss the electrical characteristics of an OP-AMP in detail L4

OR
6 a) Explain briefly i)virtual ground concept b)current mirror circuit L3
b) What is voltage follower? What are its features and applications? L2

7 Draw the circuit diagram of an integrator using Op-amp and explain L4
input-output waveforms, also derive its output equation.
OR
8 a) Explain the operation of triangular wave generator with neat circuit L3
diagram and derive the equation for output frequency
b) Discuss the applications of Astable multivibrator L2

9 a) Draw the circuit diagram and explain first order low pass butter worth L[4
filter.
b) List out different types of ADC and DAC. L3

OR
10 a) Draw the circuit diagram of Dual Slope ADC and explain its working L4
with neat sketches.
b) Discuss flash type ADC. L2
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Q.P. Code: 19CE0110

a)
b)

SIDDARTHA INSTITUTE OF SCIENCE AND TECHNOLOGY: PUTTUR

(AUTONOMOUS)
B.Tech II Year Il Semester Regular Examinations July 2021
ENGINEERING GEOLOGY
(Civil Engineering)
Time: 3 Hours Max. Marks: 60

Answer one question from each unit (5 x 12 = 60 Marks)

NIT-I
What is weathering? Enumerate the various mechanisms of rock weathering?
Distinguish between weathering and erosion.

OR

Discuss the role of geological agents in weathering of rocks.
Explain the significance of geological studies to solve civil engineering
problems.

UNIT-II

Define mineral and explain the various physical properties of minerals?
Write physical properties of Garnet and Hematite minerals.

OR
Write short notes on the following

i. Moh's scale of hardness ii. Isomorphism
Define Hardness, Fracture, and Specific gravity.

NIT-II1
Define term “rock”. Describe the classification of rocks &their characteristics?

Describe the following rocks?
a)Granite  b)Pegmatite c)Sand stone d)Marble
OR
Write short notes on
a. Structures of igneous rocks b. Structures of metamorphic rocks
In what way the granite, limestone and marble are used on the basis of their
civil engineering applications? Add their mechanical properties.

What is a monocline? How is an isoclinal fold different from a monocline?
What is a fold? Describe with the help of well labeled neat sketches &
different parts of fold.

OR
What are geophysical methods that help in knowing about subsurface
features during civil engineering investigations?
Explain in detail the principal, procedure and applicability of seismic methods

for subsurface investigations.
NIT-V

What is a water table? What are types of ground water? Which occur in the
zone of aeration and saturation?
Explain the engineering significance of ground water.
OR
How the geological structures are responsible for the failure of any tunnel
alignment.
Explain the sliding uplift and elastic rebound problems at a dam site.
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